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Q ~1 Multiple Choice Questions:

i)

vi)

vii)

viii)

OCR stands for .

A. Optical Character Recognition B. Opac Character Reader
C. Optical Comparison Reader  D. None of above

1n Hexadecimal Number system, A is stands for

A 10 B. 13 C. 14 D. None of above

The representation of -18 using 1’s complement is .

A. 11101101 B. 1001101 C. 10001010 D. 101106011

ASCII equivalent of A is .

A. 66 B. 67 C.68 D. 65
Multiprocessor is referred as .

A.SISD B. SIMD C. MISD D. MIMD

Cache memory is being deployed for .

A. Speed up rate of data fetching B. reduce rate of data fetching
C. to reduce the error D. None of them

The full form of CDROM is

A. Compact disk read only memory B. Create direct ROM
C. Correct read ROM D. None of them
Which one is the input device?

A. Printer B, Scanner C. Plotter D. .None of them
Which one is the non-impact printer?

A. Drum printer B. Laser printer  C. Character printer D.None
Registers are used to

A, Hold the information temporarily = B. save the information

C. deiete the information D. None of them

Answer the following questions in short : (Any 10)

i)
i)
iit)
iv)
v)
vi)
vii)
viii}
ix)

X)
Xi)
Xii)

List the base of Binary, Octal and Hexadecimal number systems.
Define the terms ‘Hardware’ and ‘Software’.

List out the limitations of Primary Storage.

Explain odd and even parity.

List steps of Instruction Execution cycle.

List stages of pipelining.

‘What is Instraction register?

What do you mean by Latency?

What is the importance of Memory Buffer Register (MBR)?
Give Two differences between input device and output device.
Differentiate between impact and non-impact printer.

What is Scanner?
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Q-3
Q-3
Q-4
Q-4
Q-5
Q-5
Q-6
Q-6

b)

b)

.a)

b)

a)
b)

b)

Draw a block diagram of Basic Organization of a Computer System and
explain the functions of the various units.

OR
Fxplain the conversion of Binary to Decimal with example.

Explain the addition and subtraction of Binary with examples.

Jxplain 2’s Complement and Excess Notation storage representation
methods with example.

OR
Explain Hamming code method with example.

Explain array processor in brief with diagram.

Write a short note on Primﬁry memory.
Explain Flash Drive in brief.
OR
Explain Hard Disk with diagram,
Draw a block diagram of Processor and memory architecture of a computer

system and explain its various components in brief.

Explain any two Addressing Techniques in detail with examples.
' OR

Fxplain monitor by drawing CRT. -

Explain Keyboard with all kind of keys.
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